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v RE
BRI REH(A) | BIELL®% |REBEHRE) | BTERG | MAR® FTERBRE®)
JAL-JTAY IL—TJ& &t 178,762 130.2| 412,183 124.2 43.4 41.4
AMER JAL 82,245 128.3 193,075 1271 42.6 422
JTA 67,601 136.2 171,270 126.4 39.5 36.6
RAC 27,904 1240 45150 107.1 61.8 53.4
JAC 1,012 99.3 2,688 112.0 37.6 425

v RE
B B R REH(AN) | BIFL® |REERCE | BTERG | MAR®  TERRE®)
FIH=3F JAL/JTA 68,323 130.3 148,926 130.6 459 46.0
FF =31 JAL 13,859 118.7 44,005 116.2 315 30.9
BEfE=F0F JAL/JTA 2,606 1447 10,560 1185 24.7 20.2
2R =305 JTA 11,806 1124 28,710 140.3 411 514
PIH=R1E JAL/JTA 4030 178.9 10,890 150.0 37.0 31.0
FH=2H JAL/JTA 3,361 219.7 9,240 127.3 36.4 21.1
B =h18 JTA 1,627 18,077.8 8,580 5,200.0 19.0 55
= AR JTA 5304 1541 16,170 140.0 32.8 29.8
[ 1L =3R 27 JTA 634 80.3 2310 58.3 274 19.9
INA=FRF JTA 73 8.3 330 6.7 221 17.8
MBE=EEXE RAC 444 84.4 900 69.2 493 405
MHFE=5K RAC 1,287 118.9 2,800 103.7 46.0 40.1
ISR =k REB JAC 1,012 99.3 2,688 112.0 37.6 425
B REt 114,366 130.0| 286,109 1284 40.0 395
PBRE==1 JTA/RAC 24,833 153.2 50,320 115.2 49.4 37.1
BBE=h1E JTA/RAC 16,226 115.9 39,050 1284 41.6 46.0
ME=AKE JTA/RAC 9,268 110.9 13,260 94.6 69.9 59.7
MB=RAKE RAC 2,101 106.3 3,900 94.0 53.9 476
MEFA=dL K& RAC 1,127 1454 1,400 103.7 80.5 57.4
NHE=5EH RAC 1,626 96.3 2,650 98.1 61.4 62.5
EL=%EM RAC 2,333 173.3 4,300 126.5 54.3 39.6
BAE=1XE RAC 975 130.2 1,400 103.7 69.6 55.5
RiE=5EH RAC 3,608 120.1 5,350 116.3 67.4 65.3
Bh=RAiE RAC 2,236 184.0 4,300 124.6 52.0 35.2
EAHRET 64,333 1304 125,930 1154 511 452
EH IR S 178,699 130.2 412,039 124.2 43.4 41.4
T EMRIREET 63 - 144 - 43.8 -
SR EE 178,762 130.2 412,183 124.2 43.4 41.4
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BEPE =3RER JTA 31 47.7
&t = AR &R JTA 181 82.6
FIH=FH1E JAL/JTA 84 141.7
FH=E% JAL/JTA 75 108.4
BEfE=H1iE JTA 35 -
hER =% JTA 73 71.1
] LU =3RER JTA 6 60.2
INA=BRER JTA 0.0
MBE=TEKXE RAC 0.0
BE=5 RAC 1 68.8
B RET 485 88.8
MBE==r JTA/RAC 484 94.7
MEF=H1iE JTA/RAC 321 100.1
MBE=AKE JTA/RAC 89 97.3
AMEB=FAKRE RAC 24 106.0
AMEE =4t K& RAC 9 111.8
=5 E RAC 15 65.3
BEL=%RM RAC 27 118.9
BAARE=IXKE RAC 9 141.1
AiE=5HEF RAC 42 1105
BEa=Hhi8 RAC 17 162.0
B NRET 1,037 98.4
TEHRIREET 1,522 95.1
T EHREEE 0 -
SHRIREE 1,522 95.1
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